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So minimum wage workers get a 3.5% increase and you are suggesting that you will allow more than that to corporations?
Where the executives give themselves even double figure increases. How is it justifiable. There isnt any justification. Sorry but
I lost faith in IPART long time ago. No increase for any community essential service should be higher than what the minimum
wage rises are. In this case 3.5%. They can make it work, time to stop the decline in our social responsibilities, water is
essential for the community and not to be used as the means to generate wealth. As the population grows should the current
population be exploited for the need to establish the infrastructure for additional population? Before there was a population and
the first population started who paid for the infrastructure, was it paid off by those that used it? Then why does the new
population not contribute the same way to cover the cost of additional or further upgraded services due to additional
population? It seems that its a case of penalising everyone for the fact the capitalist society wants/needs growth. And that same
capitalist tier needs more income increase than what a person on minimum wage gets.





